
Worked example Your turn
Find the Cartesian equation of the line with vector 
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Find the Cartesian equation of the line with vector 
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Worked example Your turn

The Cartesian equation of a line is 
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Find the vector form of the equation of the line.
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2−𝑥

3
=

𝑦+3

−1
=

5−𝑧

−4
. 

Find the vector form of the equation of the line.
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Find the vector form of the equation of the line.
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Worked example Your turn
Show that the points 𝐴 3,−4,−5 , 𝐵(−3, 1, −2)
and 𝐶 (−9, 6, 1) are collinear

Show that the points 𝐴 −3, 4, 5 , 𝐵(3,−1, 2) and 
𝐶 (9, 2, −1) are collinear

Shown



Worked example Your turn
The Cartesian equation of a line is 𝑦 = 2𝑥 − 3. Find 
the vector form of the equation of the line.

The Cartesian equation of a line is 𝑦 = 3𝑥 − 2. Find 
the vector form of the equation of the line.

The Cartesian equation of a line is 𝑦 = 3𝑥 + 2. Find 
the vector form of the equation of the line.
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